Date Created: Friday, 08 April, 2016 03:28:18 PM

Document ;: CA2276-M6-()-() Rev. Al

-

Voi-Shan « Tridsir - Screwcorp

~

e~ ——_——e ]
001ds206471_3 0.pdf

0,25
#3 CROSS RECESS PER 4,83 — = f-—————— L
MS9006 FOR #1/4 SIZE 4,37
FLAT COUNTERSUNK 40,25
MACHINE SCREW lt— G — ]
—— |—— MAX TWO
IMPERFECT
THREADS
) |- 1,27
MAX 5
20,2
0,25 i ﬁ-— 1,02
o 0,41
T e
F} "
S
0,25
0,76 x 45°
{APPROX)
M6 x 1-6g THREAD PER SECTION A-A
FED-STD-H28/21
TRIDAIR LOGO, 1st, 2nd AND 3rd
DASH NUMBERS STAMPED .010
MAXIMUM DEEP
NOTES, UNLESS OTHERWISE SPECIFIED:
1. MATERIAL: 300 SERIES CRES PER 0Q-S-763.
2. FINISH: PASSIVATED PER QQ-P-35.
3. MINIMUM STRENGTHS (CALCULATED):
3.1 ULTIMATE TENSILE: 7,330N.
3.2. ULTIMATE SINGLE SHEAR: 2,750N.
4. RECOMMENDED SEATING TORQUE: 3.5 TO 5.4 N M.
5. SCREW TO BE USED WITH CA2210-M6R TO CAPTIVE TO PANEL.
6. PANEL PREPARATION: REFER TO CAL-STD-0273 DRAWING, M6 x 1 THREAD SIZE.
7. INSTALLATION: REFER TO CA2210T-M{ ) DRAWING.
8.  DIMENSIONS ARE IN MILLIMETERS.
9. PART CALLOUT EXAMPLE:
CA2276-M6-5-12
L = 12,00 (SPECIFY LENGTHS IN 2MM INCREMENTS)
G = 5,00 [SPECIFY GRIPS IN 1MM INCREMENTS)
M6 X 1 SIZE
L pasic PaRT NUMBER
INTERIM DOCUMENT REVISION
Rev. Dare DAF &
. A (sf2rf [qya o
N
oy
>
& -
3 e ——————————————————————————————————
S APFROVED DATE Fairchild AEROSPACE FASTENER DIVISION 2 !
3 cace cope £9372 b
N 5 NOV 92 ENGINEERING CENTER D
S é 3000 WEST LOMITA BOULEVARD TRIDAIR PRODUCT
g REV. LETTER AND DATE TORRANCE, CA 90505
o) =1
g A——rnorve SCREW, CAPTIVE =2l
& ECN NUMBER HEX HEAD, CRES, CA2276-M6-( )-()
S M6 x 1 SIZE
Ay ] TONYITO SHEET 7 oF 2




Date Created: Friday, 08 April, 2016 03:28:18 PM Document : CA2276-M6-()-() Rev. Al 001ds206471_3 0.pdf

/ Voi-Shan - Tridair « Screwcorp

~

G +0,25 L
20,25

1,00 2,00 3,00 4,00 5,00 6,00 7,00 8,00 9,00 | 10,00
1-10|-2-10 |-3-10|-4-10
1-12 1-2-12 |-3-12|-4-12
1-14 |-2-14 |-3-14 |-4-14 14,00
1-16 |-2-16 |-3-16 (-4-16 16,00
1-18|-2-18 |-3-18(-4-18 |-5-18 |-6-18|-7-18 |-8-18|-9-18 |-10-18] 18,00
1-20 | -2-20|-3-20 |-4-20 |-5-20|-6-20|-7-20|-8-20|-9-20|-10-20|20,00
1-22 (-2-22 |-3-22 (-4-22 |-5-22 |-6-22|-7-22 |-8-22|-9-22 |-10-22}22,00
1-24 |-2-24 |-3-24 |-4-24 |-5-24 |-6-24 |-7-24|-8-24|-9-24 |-10-24}24,00
1-26 (-2-26 |-3-26 (-4-26 |-5-26 |-6-26|-7-26 (-8-26|-9-26|-10-26}26,00
1-28 |-2-28 |-3-28(-4-28)1-5-28(-6-28|-7-28 |-8-28|-9-28|-10-28)28,00
-1-30 |-2-30|-3-30 |-4-30|-5-30(-6-30|-7-30|-8-30|-9-30 |-10-30{30,00
-1-382|-2-32|-3-32(-4-32|-5-32(-6-32|-7-32|-8-32(-9-32|-10-32432,00
-1-34 |-2-34 |-3-34|-4-34|-5-34|-6-34|-7-34|-8-34|-9-34 |-10-34}34,00
-1-36 (-2-36 |-3-36 -4-36|-5-36 (-6-36|-7-36 |-8-36|-9-36|-10-36|36,00
-1-38|-2-38 |-3-38(-4-38|-5-38(-6-38|-7-38|-8-38(-9-38|-10-38}38,00
~1-40 | -2-40 (-3-40 |-4-40|-5-40 |-6-40|-7-40 |-8-40-9-40 |-10-40)40,00
“1-42 | -2-42 |-3-42 |-4-42 | -5-42 |-6-42|-7-42 |-8-42|-9-42 |-10-42)42,00
~1-44 [-2-44 |-3-44 | -4-44 | -5-44 |-6-44 |-7-44 |-8-44 |-9-44 |-10-44)44,00
-1-46 |-2-46 |-3-46 |-4-46 | -5-46 |-6-46 |-7-46 |-8-46 |-9-46 |-10-46]46,00
-1-48|-2-48 |-3-48 (-4-48|-5-48|-6-48|-7-48 |-8-481(-9-48 |-10-48}48,00
-1-50|-2-50 |-3-50 |-4-50|-5-50(-6-50|-7-50|-8-50|-9-50|-10-5050,00

10,00
12,00

G 20,25 L
16,00 :

15,00

-12-18 :
-11-20|-12-20|-13-20
-11-22|-12-22|-13-22

-

R
)

N

16-22|

'
-
LN
'
N
N

15-22

-11-24|-12-24|-13-24(-14-24|-15-24|-16-24|-17-241-18-24 24,00
-11-26|-12-26(-13-26|-14-26|-15-26|-16-26|-17-26(-18-26|-19-26 26,00 §u B—
-11-28|-12-28|-13-28|-14-28|-15-28|-16-28|-17-28|-18-28|-19-28 E g E;
-11-30|-12-30|-13-30|-14-30|-15-30(-16-30|-17-30|-18-30|-19-30 f N\
-11-32|-12-32|-13-32|-14-32|-15-32(-16-32(-17-32(-18-32|-19-32 E
-11-34|-12-34|-13-34(-14-34|-15-34|-16-34|-17-34(-18-34|-19-34 ; " f:
-11-36|-12-36|-13-36|-14-36|-15-36(-16-36|-17-36(-18-36|-19-36 § g Ky
-11-38|-12-38|-13-38|-14-38|-15-38|-16-38)-17-38|-18-38|-19-38 z ?
-11-40|-12-40|-13-40(-14-40|-15-40|-16-40|-17-40|-18-40|-19-40 g 5
~T11-42|-12-42|-13-42(-14-42|-15-42|-16-42|-17-42|-18-42|-19-42 ; &’ Z
- 11-44|-12-44|-13-44|-14-44|-15-44|-16-44|-17-44|-18-44|-19-44

© -11-46(-12-46|-13-46(-14-46|-15-46|-16-46|-17-46(-18-46|-19-46

z -11-48|-12-48|-13-48(-14-48|-15-48|-16-48|-17-48|-18-48|-19-48

: -11-50|-12-50(-13-50|-14-50|-15-50(-16-50|-17-50(-18-50|-19-50

g —

3 APPROVED DATE z F

S Fairchild AEROSPACE FASTENER DIVISION ot oox 20872 |1

I 3000 WEST LOMITA BOULEVARD TRIDAIR PRODUCT

W REV. LETTER AND DATE TORRANCE, CA 905086

§| A——rrorses SCREW, CAPTIVE

B ECN NUMBER HEX HEAD, CRES, CA2276-M6-( )-(

J /. M6 x 1 SIZE

(/0 ~EON~59H10~ SHEET 2 oF 2




